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Nowadays celebrities are more famous for their glamour and wealth than for their achievements, and
this sets a bad example to young people.

To what extent do you agree or disagree with this statement?
Ot2f A 20 A Balanced opinion= H|A|SH7| 23l ‘while' O|2t= B S A& 20| TS| EX}
It is true that some celebrities are known for their glamourous lifestyles rather than for the work they

do. While | agree that these celebrities set a bad example for children, | believe that other famous

people act as positive role models.
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